Chapter 29
Negative Punishment”
Response Cost and Timeout

Study Questions
1. When, and only when, might you use punishment to change or control behavior?
2. Define the term negative punishment and why it may not be considered harmful or destructive.
3. Explain response cost and state why it is considered an aversive procedure.
4. As a review, match the terms to their contingent operation and their intended outcome:
a. Positive reinforcement
_____ Remove given amount of favorable consequences.
                                                                       Decreases behavior.

b.    Negative reinforcement
_____ Withhold favorable consequences.

                                                               Decreases behavior.

c. Extinction


_____ Add aversive consequence. Decreases behavior

d. Positive punishment

_____ Remove aversive consequence. Increases behavior

e. Negative punishment

_____ Add favorable consequence. Increases behavior
             (Response cost)

f. Negative punishment

_____ Remove access to favorable consequences for a

     (Timeout)



given time. Decreases behavior
5. Describe how response cost could be implemented in conjunction with a child’s allowance..
6. Ms. R. Cost decided to try a new procedure in her classroom. If any students called out during seat work time they would lose points off their paperwork. One of the poorer math students began calling out right away. When Ms. Cost went to his seat, he had no correct answers on his paper so he received a minus score. As a result he continued to call out in class, saying, “I’m gonna get a zero anyway!” Give Ms. Cost advice about how she could implement response cost more effectively.
7. What is meant by a bonus response cost and how does it work?
8. Explain why it is a good strategy to combine bonus response cost with other procedures.

9. Define timeout.
10. Compare and contrast timeout to extinction and response cost.
11. Why is time out considered more aversive than extinction?

12. Identify a situation in which you would choose response cost and a second situation when response cost would not be your chosen reductive procedure.

13. List and explain the four variations of time out categorized by Ryan, Peterson, and Rozalski (2007).
14. Match the situation with the variation of timeout used:

a. At circle, Sofia refuses to remain in her seat.

Her chair is placed outside the circle area where

she can watch but not participate in circle.

_____ Planned ignoring
b. London threw his cup at the teacher. She

took the cup away and did not return it

for three minutes.




_____ Timeout ribbon
c. Jackson gets to wear a special medal. He

refuses to pick up toys at clean-up time

and the medal is removed for two minutes.

_____ Contingent Observation
d. Kalea, while working at the art table
keeps refusing to follow directions. The

teacher turns her back on Kalea and will

not respond to her.




_____ Withdrawal of materials

15. Explain how exclusionary timeout works and give a novel example for this kind of timeout.
16. Facial screening is an effective timeout technique that is approved throughout the United States in all school districts. T or F? Clarify your choice.

17. Describe how seclusionary timeout works.

18. Discuss two variations of seclusionary timeout and give an example for each.

19. All of the following are advantages of response cost, except:

a. Effectively reduces behavior when used correctly

b. Promotes discriminative learning

c. Socially acceptable

d. Can suppress acceptable responses

e. It is relatively convenient to use

20. List at least two disadvantages of using response cost and state why it is important to be aware of these effects.
21. Explain why using response cost can be considered socially acceptable.

22. Gloria put her son Barry in timeout when he refused to clean up his toys. Is this a proper use of the timeout procedure? Why, or why not?

23. Response cost and timeout may lend themselves to abuse. T or F? Justify your choice.

24. State three disadvantages of choosing timeout.

25. Describe the type of timeout procedure that is considered:

a. Least restrictive

b. Most restrictive

26. Clarify why the doctrine of the least restrictive environment must be considered before implementing any timeout procedure.

27. Think about why it is necessary to develop a “level of restrictiveness” classification in the use of timeout and explain it to a friend.
28. Every time Carol hit a peer in her classroom, her teacher had her removed from the room. The teacher felt this was the least restrictive form of timeout. Is she correct? If not, what would you suggest she do instead and why?

29. What is meant by informed consent?
30. In order to minimize public reactions to seclusionary timeouts, explain at least seven safeguards that might help with this negative perception.

31. Paulita has an amazing room. It has a canopy bed, soft floral chairs, a TV set, and toys galore. When she misbehaves her mother always orders her to “go to your room!” Paulita misbehaves a lot. Can you explain why, and what her mother should probably do instead to get Paulita to comply with her requests?

32. Discuss why it is not effective to increase the cost in a response cost procedure by small increments.

33. Describe two factors that influence the effectiveness of a timeout procedure.

34. With response cost, intensity is the _______________ of the penalty whereas, with timeout, the intensity is the __________ of the penalty.

35. Georgeanne always parks in the campus parking structure even though she doesn’t have a permit. Since she attends classes at the University only one night a week her attitude is <”So what, I could get 8 parking tickets and it still would be less than the cost of the permit!” Explain what is going on here with Georgeanne, and also how the University might correct this situation to their benefit.
36. Why is it best to inform individuals of the specific rules in relation to timeouts, or response cost contingencies?

37. What is a contingency delay and how does it work in time out? What are some of the potential liabilities of using contingency delay?

38. React to the statement, “Timeout is an aversive procedure that could lead to abuse and should be prohibited.”
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